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12U 1/5208789 |FH Bk 977 5091TC 71 20.92| 10.46 4| 0.05 6.4 0.01
12U 115209066 |IUK £% TAYLEUREER 7 10.46 4| 0.05 6.4 0.01
12U 2|5208915 |§if XA TE FEEEYY-UTC 4 11.02| 6.01 3 3 0 0.01
12U 215209151 |F:8 1§ m)=TC 4 5.01 3 2 0 0.01
12U 3|5209085 |FHH £A8 INOUE TA 1 6.41| 3.21 2| 12 0.01
12U 3|5209322 [#EHE [5F NI Uh T RINE 1 3.2 2 1.2
12U 4|5209156 [ILTF BB INOUE TA 6| 241] 1.21 1.2 0.01
12U 4|5209325 |[AF% <B# [INOUE TA 6 12 12
12U 5/5209086 [k Lt = Azure Court 8| o021 o11] 005 o005 0.01
12U 5|5209320 |{Eik E# NI YT AE 7t 8 0.1] 0.5/ 0.05
12U 6/5209326 [{EE #ic LYNX TA 10 02 o0.1| 005 005
12U 6/5209159 |[#H 0O Eid LYNX TA 10 0.1 0.05| 005
12U 7|5209403 |[F)1] & Azure Court 9| o016] 005 0.05
12U 715209349 [JiEIL HFF |Azure Court 9 0.11| 0.05| 0.05 0.01
12U 8(5209537 |FE# B LYNX TA 11 0.1 005 005
12U 8/5209408 [#;Z Mt LYNX TA 11 0.05| 0.05
12U 9|5209157 &L #F HFESaZF 5 0.01 0
12U 9|5209341 ({85 FLA, F|;EEYY-UTC 5 0.01 0.01
12U 10/5209324 |#¥AHA Eif 777 3091TC 3| 001 o001 0.01
12U 10[5209401 |42 #b40 977 50¥aTC 3 0
12U 11/5209400 |NEE =0 NTVY)TZRINE 2 0 0
12U 11/5209539 [518 HZE tennis egg JRED 2 0
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